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B (65)

A=x?+2y,B=x+3y,C =2x>+3xD L ¥,
X=3A-2(B+C)+3BDfxked X,

F2M (64
BRAL X2 +3x+ 1L DM P 4x -2 b & H, BAx ko X,
B3IMW (34 x%9)

U o % RS X,

(1 (x+6)(x—8)

(2) (3x +y)(9x% - 3xy +y?)

(3) (x+2y+32)?

(4) (a+ 2b)3

(5) (a=b—c+d)(a—b+c—d)
6) x+y—2)(x+y+2)

(7) (x—2)(x—3)(x—4)(x—5)
(8) (x+y)(x — 2y)(x% + 3x + 2y)
9) (x®—x2+x+1)(2x>—3x+1)

AR (3six13)

AT o % B 2 Ko
(1) x2—10x + 24
(2) 2x2+7x—4
(3) a* —3a® —2a?
(4) 2a? — 7ax + 3a?
(5) 2x2—(y+1)x—y*>—5y—6
(6) 3x3 +27
(7) 64y3—1
(8) x®—y°
9) (x2—x+1D2—x+2)—12
(10) x*—x2—-12
1) (x—Dx-2)(x—-3)(x—4) —24
(12) a® + b3 — 3abc
(13) x®*+y3+3xy—1



